The chamber of congress recorded the ages of shoppers in a mall on a Tuesday morning.  The following stemplot illustrates their results.
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For this stemplot, we’re looking for the students to recognize that the distribution is multi-modal and the reason for this is you have high concentrations of small children, thirty-somethings, and retirees.  They should note that school-aged and college-aged people are not present in the mall on a Tuesday morning because they’re in school.  
An electric company keeps track of its clients’ consumption figures.  The following graph illustrates this.
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For this graph, it should be obvious to the students that the distribution is skewed to the right.  One reason for this could be the abundance of residential homes and a few clients who are businesses that consume a greater amount of electricity.  Students should note the center is between 2000 and 4000 and ranged from 0 to 14000.

The height of all NBA players and the height of all male students in a general statistics class are recorded.  The following graphs illustrate these.
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For these graphs, students should be able to tell that the centers of each graph are obviously different.  The NBA players have a median between 80 and 82.5 inches whereas the male students from an introductory statistics course have a median between 70 and 72.5 inches.  The difference in medians can be explained by the game of basketball.  Teams want players who are generally taller than the average male.  The shape of these graphs are both roughly symmetric and the spread is not really a significant matter in this case.
